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Expand on class questians:

Even-odd pavity.
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Con we use incdusion-exclusion instead of Burnside’s lemma?
Need 4> consider poset of sobgaups oF S3. Mdbivs muersion.

BB B R E @

2 2 P P

B85 mmE w8 B
~__ {é\&}//

C@) K colors lP| = \G‘alxal (21 3k*)

at least’ ctly, divided b wett; 6 Lt 2
tyee of symmeby lest  exactly,divided by symmeties (& gt k>/6

JAI] & K d(adt-Keak) [ 1]3]4]3

VA Bl s K 5= 2| |2
A & & w4k 2| |2
A AL e K 50 2| |2
VA A A o ¥ 3K 3|3
B BB, &« k 6
@g,&’&} 1320

(213K o



Better qppadn @ SKip Mabivs inversian to compute “exactiy
Rather; wwen a pq‘\‘(-@m has & versions, we waat 13 coudt ean ane with weight %-
Wav o?'hz POset, adjushing weghts baged on count Sp fav from Lelw,

C@) kelors  [P] = Ixal (K +2K%+3K")

dES‘IYEA subtad het
fyp of symmely  atlest  weight  bdaw  comivibuhon

] (K & T 5k

& <
BBl 5 & gk
BEf& K 3 3§ i
| N S S A
BB ¢ 2 30 3K
IBAR &k L O
& & & L2k 3K

This can be easier Than Bemgdds lemmg
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